

PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282 (817) 246-3361

Bill To:

Younger Energy Co. 9415 E. Harry St. STE #403

Wichita, KS 67207-5083

INVOICE

Invoice Number: 143926

Invoice Date: Jun 18, 2014

Page: 1

RECEIVED JUN 3 0 2014

Customer ID	Field Ticket#	Payment Terms		
Youn	63527	Net 30 Days		
Job Location	Camp Location	Service Date	Due Date	
KS1-01	Great Bend	Jun 18, 2014	7/18/14	

Quantity	ltem	Description	Unit Price	Amount
1.00	WELLNAME	Morrison Luther Unit #1		
150.00	CEMENT MATERIALS	Class A Common	17.90	2,685.00
1,044.00	CEMENT MATERIALS	Chloride	1.10	1,148.40
225.00	CEMENT MATERIALS	65/35/6% Gel	19.88	4,473.00
56.00	CEMENT MATERIALS	Flo Seal	2.97	166.32
417.96	CEMENT SERVICE	Cubic Feet Charge	2.48	1,036.54
222.84	CEMENT SERVICE	Ton Mileage Charge	2.75	612.81
1.00	CEMENT SERVICE	Surface	2,058.50	2,058.50
12.00	CEMENT SERVICE	Pump Truck Mileage	7.70	92.40
1.00	CEMENT SERVICE	Manifold Head Rental	275.00	275.00
12.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	52.80
1.00	EQUIPMENT SALES	8-5/8 Baffle Plate	320.00	320.00
3.00	EQUIPMENT SALES	8-5/8 Centralizer	75.00	225.00
1.00	EQUIPMENT SALES	8-5/8 Basket	560.00	560.00
1.00	EQUIPMENT SALES	8-5/8 Rubber Plug	131.00	131.00
1.00	CEMENT SUPERVISOR	Joshua Isaac		
1.00	EQUIPMENT OPERATOR	Ben Newell		
1.00	OPERATOR ASSISTANT	Marlyn Spangenberg		
		0,		
		Cubtotal		13 836 77

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

4,704.50

ONLY IF PAID ON OR BEFORE Jul 18, 2014

13,836.77
694.17
14,530.94
14,530.94

9826.44 Mornison Light

ALLIF OIL & GAS SERVICE , LLC Federal Tax I.D. # 20-8651475 063527

	REMIT TO P.O. B				•	SER	ICE POINT:	1
	SOUTH	-	TEXAS 760	92	4	1	Graff2	nd
	DATE 6-18-14	SEC. 6	TWP.	RANGE / 3	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
	LEASEM om's Luthe	WELL#	(LOCATION Erreat	Bard 5 to 1012	no (Ly	COUNTY	STATE
	OLD OR NEW (Ca		i	1 2 7		regional to	STUFFERD	105
		<u> </u>		363, wim	-0		ا	
	CONTRACTOR	00 Kz	2	·	OWNER			
		orfac	Ž.					
	HOLE SIZE 7hy T.D.				CEMENT		. /-/	
	CASING SIZE	<u> 5.24 </u>	DEF		AMOUNT OF	DERED 225	SKS 65/35	- 6 Fred
	TUBING SIZE		DEF			4710	£	J :
	DRILL PIPE TOOL		DEP DEP		130 5 FS	Cluss A32	رد	
	PRES. MAX	·		IMUM	COMMON	150	AG. 513	2.685.00
	MEAS. LINE			E JOINT 7.7.50		740	@ @	2.480.
	CEMENT LEFT IN	csg. 3	5.58	24	GEL GEL		- [@]	
	PERFS.	49.9			CHLORIDE	1044	@1.10	1.148.40
	DISPLACEMENT	Sec. of	6 bbl.	FORSK LOUNT	ASC		@	
		EQU	JIPMENT		22554	45/35/46	@19.88	4.473.00
		_			+10 Sea	1 54	@ 2.97	164.32
	PUMPTRUCK (CEMENT	ER SJON	h 15445			@	
			Ben 1			terial Total		8.472.72
130	BULK TRUCK					Disc.	_@ 34<i>9</i>& _	2.880172
		DRIVER	marke	n spansling	_:1		_@	-
	BULK TRUČK		/		-		-vice	
	<u>#</u>	DRIVER			HANDLING	417.96	® 2.48	1.036,54
						8.57 X 12 X		612.81
		RE	MARKS:					-
	Enlocation -1).Sat e	- hed so	efter meeting				-
	Pun 85/4 1491		ak cicle	latto-				
	PUMP 5 bbl				<u> </u>		-	
				3/12 V4 F1x	DEPTH OF JO			
	MIX 150.5K	5 (105	5 A 31/2	LL		K CHARGE 20	38.35	
	Displace 49	.27 L/	1 Fred	INCIPE -	EXTRA FOOT		_@	
		Caren.		Corestan	MILEAGE	your 12	@ 7.70 @ 275:00	275,00
	Rigdom				- MANIFOLD.	vuz 12	@ <u>4.40</u>	52.80
	Kon 000							02.00
	CHARGE TO: 4	1 3211.61.	1600	Carl				
			Gerta.	77	offine Page 1		TOTAL	4.128.05
	STREET						34%	1.403.54
	CITY	ST	ATE	ZIP				
						PLUG & FLOAT	EQUIPMEN	ÚK.
					B-24-	Plats	_@ <u>32৫.০১</u>	320.00
	T- 4111-1 OU 6 /	aa			3 cent		_@ <u>326-</u> _@ <u>75-00</u>	225.00
	To: Allied Oil & (•				@ 540.04	540.00
	You are hereby re and furnish cemer				Rubber		@ 731.50	131.60
	contractor to do w				c			
	done to satisfaction					3	4% TOTAL	1236.00
	contractor. I have		-					420.2
	TERMS AND CO							
			,		TOTAL CHAI	RGES_ /3.83		
	PRINTED NAME	Dio	1 1/0	SALLET	スタック DISCOUNT	4,70	14.50	(34/39/34) O IN 30 DAYS
	FAIRTED NAME	V			DISCOUNT_			D IN 30 DAYS
8.0	X	1)-	1/			9.13	2.5	1
	SIGNATURE /	willon	vosy,	ω_{γ}	_	(9)		
	11 1/	Tie.	U					
	Man K	7 60- 1	t					



PO Box 93999 Southlake, TX 76092

RECEIVED JUL 1 0 2014

INVOICE

Invoice Number: 144103

Invoice Date: Jun 28, 2014

Page: 1

Bill To:

Voice:

Fax:

Younger Energy Co. 9415 E. Harry St.

(817) 546-7282

(817) 246-3361

STE #403

Wichita, KS 67207-5083

Customer ID	Field Ticket #	Payment Terms		
Youn	63583	Net 30 Days		
Job Location	Camp Location	Service Date	Due Date	
KS1-02	Great Bend	Jun 28, 2014	7/28/14	

Quantity	Item	paghi upi i	Description		Unit Price	Amount
1.00	WELL NAME	Morrison Luther Unit #1				
150.00	CEMENT MATERIALS	ASC			23.50	3,525.00
50.00	CEMENT MATERIALS	60/40/4% Blend			18.92	946.00
750.00	CEMENT MATERIALS	Kol Seal			0.98	735.00
42.00	CEMENT MATERIALS	FL-160			18.90	793.80
19.00	CEMENT MATERIALS	Defoamer			9.80	186.20
500.00	CEMENT MATERIALS	DV-1100			1.27	635.00
248.17	CEMENT SERVICE	Cubic Feet Charge			2.48	615.46
128.04	CEMENT SERVICE	Ton Mileage Charge			2.75	352.11
1.00	CEMENT SERVICE	Production Casing			2,558.75	2,558.75
12.00	CEMENT SERVICE	Pump Truck Mileage			7.70	92.40
1.00	CEMENT SERVICE	Manifold Rental			275.00	275.00
12.00	CEMENT SERVICE	Light Vehicle Mileage			4.40	52.80
1.00	EQUIPMENT SALES	5-1/2 Guide Shoe			281.00	281.00
1.00	EQUIPMENT SALES	5-1/2 AFU Insert			360.00	360.00
1.00	EQUIPMENT SALES	5-1/2 Basket			395.00	395.00
10.00	EQUIPMENT SALES	5-1/2 Turbolizer			95.00	950.00
1.00	EQUIPMENT SALES	5-1/2 Rubber Plug			85.00	85.00
1.00	CEMENT SUPERVISOR	Charles Kinyon				
1.00	EQUIPMENT OPERATOR	Kevin Eddy				
1.00	OPERATOR ASSISTANT	Brian Lang		OP		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

3,594.79

ONLY IF PAID ON OR BEFORE Jul 28, 2014

Subtotal	Continued
Sales Tax	Continued
Total Invoice Amount	Continued
Payment/Credit Applied	88 5-
TOTAL	Continued





PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Younger Energy Co. 9415 E. Harry St. STE #403

Wichita, KS 67207-5083

INVOICE

Invoice Number: 144103

Invoice Date: Jun 28, 2014

Page: 2

Customer ID	Field Ticket#	Payment Terms Net 30 Days		
Youn	63583			
Job Location	Camp Location	Service Date	Due Date	
KS1-02	Great Bend	Jun 28, 2014 7/2		

Quantity	Item	Description	Unit Price	Amount
1.00 OPE	RATOR ASSISTANT	Andrew Engles		
[

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

3,594.79

ONLY IF PAID ON OR BEFORE
Jul 28, 2014

Subtotal	12,838.52
Sales Tax	635.78
Total Invoice Amount	13,474.30
Payment/Credit Applied	
TOTAL	13,474.30

9879.51

ALLIEJ OIL & GAS SERVICES, LI

Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092

Morrison LEASE Kuther

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092					SERVICE POINT: Great Bend				
	**************************************	12/12/13 70	0,72				yelan	Bengl	
6-28-14 DATE	SEC.	TWP.	RANGE 3		S.Oom	ON LOCATION	JOB START 3:00pm	JOB FINISH	
LEASE Kuther	WELL#	1	I OCATION	Telland	ord ex fin	. 2 4/	COUNTY	STATE	
OLD OR NEW (C				4 .		0 200	rapord	12	
			193 W	cln	M		_]		
CONTRACTOR (Dake	2			OWNER -	a son			
TYPE OF JOB /					OWINER -				
HOLE SIZE 7	2-5	T.E	3730		CEMENT				
CASING SIZE	52	15.5 DE	PTH 3707		AMOUNT OR	DERED 504	160140	4100120	
TUBING SIZE		DE	PTH		150 MY A	Sc 107.30	X 67-90	D 21.00	
DRILL PIPE		DE	PTH		.357 F/16	10 .14%.01	c 00	0-	
TOOL			PTH						
PRES. MAX			NIMUM		COMMON		_@		
MEAS. LINE			OE JOINT 15		POZMIX				
CEMENT LEFT II	N CSG.	15			GEL		_@		
PERFS.		120 6	2 20 001		CHLORIDE		_@		
DISPLACEMENT			7.75 BBI		ASC_/50		@ <u>23 '5</u> 0	3.525.00	
	EQ	UIPMENT				0740440	_@ <u>/४.52</u>	946-00	
					K01554		@98	735.99	
PUMP TRUCK	CEMEN'	TER	relas King	1	1-160 DF		@ 18.50	793. 80	
#366	HELPER	Kern	edda		UF		_@ <u>9.80</u>	186.20	
BULK TRUCK		0 .			DV 1100	500	_@ 	435.00	
	DRIVER	Bru	in France			materials		(0.82)-0	
BULK TRUCK			<i>-</i> (yukon)0	maurice	028% Buc	1909.88	
#	DRIVER	andre	y englis	<u>-</u> .	HANDLING .	248.17	@ 2.48	615.4E	
			V			5.67 X 12-X	2.75	352.1	
	RE	MARKS:		İ	<u> </u>		TOTAL		
Rig Ran 3.			Rome a	۷ ، سرم	D		TOTAL		
VIRALN	West.	11-2-00	Ball pum	0					
thurst D			ool to fre			SERVI	CE		
5BB1 H20 10	RBI	OVHOO:	5 BBI #20 A	Olys	DEPTH OF JO	2202			
Rat bole 30	ne s	nouse	Holo 2000	- T		CHARGE	2558.2	5	
book to be	nd m	W 150	es shut i	day	► EXTRA FOOT				
work pamy	od Ru	no dis	day 8%.	75		& Hum 12	_@	92.40	
BBI H20	plug	dre R	and Alon	7	MANIFOLD_		@ 275:00	275.00	
die brold	/				WANTEOUD	hum 12	@ 4.40	53.80	
•							@		
CHARGE TO: 🏒	mouns	an e	marco						
	(00				TOTAL	3,946.5	
STREET							Die	1105.03	
CITY	S	TATE	ZIP				28%	110500	
						PLUG & FLOAT	I EQUIPMEN	T	
					quide	shoo		281.60	
		,			AFU a	ment	@	360.00	
thank	200	6-			1-Back	ex	@	395.00	
To: Allied Oil &	Gas Sers	rices. LLC	_		10-tusto	r centerlin	4@ 95.00	950.00	
You are hereby re				ent	Rubber	plug	@ 85,00	85.00	
and furnish ceme							_@		
contractor to do								_ ^*	
done to satisfacti							TOTAL	2.071.	
contractor. I hav		-					28	10 579.88	
TERMS AND CO					SALES TAX (lf Any)			
· DAME AND CO	~	סופונ טרייכ	r on me teacise	SIUC.			1.53	<u>ن</u>	
	V	1	2		TOTAL CHAR	A 60 1 47 9 5 1	7. 79	(28/28/20)	
PRINTED NAME	11	201	JANA.N	42	DISCOUNT	2.01	IF PAI	DIN 30 DAYS	
1	,	-	. ~	ノ		9 211	2 73		
A A	(16	15	0 2			1. 77	ے. ر		